REASONING TEST

Q1.

Q2.

Q3.

Q4.

Qs.

Q6.

If 2nd August is Monday, then 5th Sept will be:

(@) Tuesday
(b) Sunday

() Thursday
(d) Saturday

If 17th November, 1939 is Sunday then which
day will be listed on 19th May, 1993?

(@) Friday
(b) Thursday
() Saturday
(d) Tuesday

Which of the following year will have the same
calendar as that of the year 1995?

If the third Saturday of a month is 17th What
will be on the fourth Wednesday of the month?

If the third Monday of a month is 17th. What
day is specified in the month, which will be
come five times?

(@) Tuesday
(b) Thursday
(c) Friday
(d) Saturday

Which of the following months have the same
Calendar in an ordinary year?

(
(
(
(

a) January-luly

b) February-April
¢ July-August

d) January-October

Q1.

Q2.

Q3.

Q 4.

Q5.

Q6.

e 2 3RA JHAR &1, a1 5 Faawas -
(a) TR

gfe 17 qdaX 1939 & IqaR € @ O f6 19
7$,1993 P! B T fe Bm?

(a) bl

1995 U4 f+ % 9 foog af BT beius? U ST 2RI 2
(@) 2001

(b) 1999
() 2006
(d) 2008
I fodll 78R & R oifaR &t 17 afiE 2 @1 39

ER & A AR @) B Wi 9 grfi?
(a) 22

Ifes fopelt 7R o TR WHaR &) 17 aE & 9 qarse
1% 39 4R % a8 P\H-1 faq & S ufg 9R 3”2
(a) TR

(d) wfEaR
fepdt AraRoT 9y § 5 A8 &7 dets HM eF?
EREHESIES
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Q7.

Q8.

Q9.

Q1o0.

Directions (Q.No. 7-10): The
description is for next four questions:
Amit wants to purchase a magazine, four magazineson
different subjects are available to select from: politics,
sports, science and films. These magazines are edited
by Feroze, Gurbaksh, Swami and lla (not necessarily
in the same order). These magazines are published
by Aryan, Bharat, Charan and Dev publishers (not
necessary in the same order). It is also given...
e Dev Publisher published the magazine edited

by Feroze.

Political magazine is published by Aryan publisher.
e Film magazine is edited by Swami and has

not published by Charan

Science magazine is edited by lla

Select the correct answers for the next set of

four questions.

following

Science magazine is published by...

(3) Aryan publisher

(b) Bharat publisher

() Charan publisher

(d) Dev publisher

Sports magazine is..

(3) Edited by Feroze

(b) Edited by Gurbaksh

() Published by Bharat publisher

(d) Published by Charan publisher

Film magazine is...

(3) Published by Dev publisher

(b) Published by Bharat publisher

() Edited by Gurbaksh

(d) Published by Charan publisher

Political magazine is...

(3) Edited by lla

(b) Edited by Gurbaksh

() Published by Dev publisher

(d) Published by Charan publisher

Direction (Q.No. 11-13): Consider the given

information and answer the three items that follow.

When three friends A, B and C met, it was found that

each of them wore an outer garment of a different

colour. In random order, the garments are: jacket,

sweater and tie; and the colours are: blue, white

and black. Their surnames in random order are:

Ribeiro, Kumar and Singh. Further, we know that:

e Neither B nor Ribeiro wore a white sweater

e Cwore atie

e Singh’s garment was not white

e Kumar does not wear a jacket

e Ribeiro does not like to wear the black colour

e Each of the friends wore only one outer
garment of only one colour.
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Q11.

Q1ia2.

Q13.

Q14.

Q15.

Q 1e6.

Q17.

What is C’s surname?
(@) Ribeiro
(b) Kumar
() Singh
(d) Cannot be determined
What is the colour of the tie ?
(a) Black
(b) Blue
() White
(d) Cannot be determined
Who wore the sweater?
(@) A
(b) B
(o C
(d) Cannot be determined
Directions for the following 6 (six) items: Read the
information given below and answer the six items
that follow.
A, B, C and D are students. They are studying in four
different cities, viz.,, P, Q, R and S (not necessarily in
that order). They are studying in Science college, Arts
college, Commerce college and Engineering college (not
necessarily in that order), which are situated in four
different States, viz., Gujarat, Rajasthan, Assam and Kerala
(not necessarily in that order). Further, it is given that-

D is studying in Assam

Arts college is located in city S which is in Rajasthan

A is studying in Commerce college

B is studying in city Q

Science college is located in Kerala

A is studying in
(@) Rajasthan

(b) Gujarat

(0 cityQ

(d) Kerala

Science college is located in
(@) cityQ
(b) city S
() cityR
(d) city P

Cis studying in

(@) Science college

(b) Rajasthan

(0 Gujarat

(d) cityQ

Which one of the following statements is correct?
(@) Dis not studying in city S.

b) As studying in Science college.

c) Aisstudying in Kerala.

d) Engineering college is located in Gujarat.

(
(
(

Q1.

Q12.

Q 13.

Q 14.

Q 15.

Q 16.

Q 17.

C &l TATR?

frfeRad 6: yeaiei & ford fder: i <) € e &Y
Ufed 3R 39D TvETd 31 a1l B : JEi & I G

A, B, CIRDBHZId =R A= w3 - P, Q, R
AR S (sfarte: 76 w0 § ) § 95 © 1 9 uEY
IS, STTEH Shicil, e ehietsl SR Foif-=RT e,
(@fraria 3 w9 o e | 9g @ & W =R fafe
T T, TR, 39 3R e (aifvarda: gaft
%A T TE) o feoa €1 78 oft feen e @ e

D S H B E

3T HieST R S | €, S Toree # o €

A Hd Hies § 9e W@l
B We¥ Q # 76 %I
TG oS el § feord 7
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Q18. Which one of the following statements is Q 18. <R Bictal & Hay #, f=falad § § eF-41

correct regarding Engineering college? T B el 82

(@) Cis studying there. o

(b) B is studying there. (a) C el 9¢ &l gl

(c) Itislocated in Gujarat. (b) B aﬂ%?ﬁ;ﬁ%

(d) Dis studying there © =& l.l d !
(@) D =i 7g @I 2|

Q19. Which one of the following statements is

correct? Q 19. FrfeRad BT A BH-91 o 9 82

(@) Engineering is located in Assam.

(b) City Qs situated in Assam OREIERIT ﬁ?ﬁqﬂ:’gﬁ feora @
() Cis studying in kerala. (b) W%?” 3 |
(d) Bis studying in Gujarat. @ C e /T |

(d) B TR H g @I €|

Q20. Consider the following matrix:

Q 20. frafafEd e W frar SiforR:

3 370 7

2 224 &

2 224 6

1 730 X

1 730 X

What is the number at ‘X’ in the above matrix?

(a 5 IR R TG Mg # X' & R W PH- He&r 82
(b) 8 @ 5
© 9 (b) 8
(d) 11 © 9
(d) 11

Q21. Consider the following matrix:

Q 21. iid f&R 1Y 3MeE W far Sifor:

3 8 10 2 ¢ 1 3 8 10 2 ? 1
6 56 90 2 20 0 6 56 90 2 20 0
What is the missing number at “?” in the matrix? .
@ 5 e ¥ 09 fUg () T @F & o e aan 82
(b) O @) 5
(0 7 (b) 0
d 3 (O 7
(d) 3

Q22. Consider the sequence given below.
Q 22. fAfafEd v W far BifH-
4/12/95,1/1/96, 29/1/96, 26/2/96.....
4/12/95, 1/1/96, 29/1/96, 26/2/96
What is the next term of the series?

39 5B BT STl UG T 3N 2
() 24/3/96 (a) 24/3/96
(b) 25/3/96 (b) 25/3/96
(0 26/3/96 (0 26/3/96
(d) 27/3/96 (d) 27/3/96
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Q 23.

Q24.

Q 25.

Q26.

Q27.

Consider the following pattern of numbers:

8 10 15 13
6 7 5 4
4 6 8 8
6 11 16 ?

What is the number at ? in the above pattern?
(a) 17

Consider the following sequence of numbers:
51473985726315863852243496

How many odd numbers are followed by the
odd number in the above sequence?

(@)

A simple mathematical operation in each nhumber
of the sequence 14, 18, 20, 24, 30, 32....results in a
sequence with respect of prime numbers. Which one
of the following is the next number in the sequence?
(@) 34

You are given two identical sequences in two rows:

Sequence-I | 8 4 ) 15 52.5 | 236.25

A B C D E

Lt

Sequence-II

What is the
Sequence-II?
(@) 2.5

b) 5
¢ 9.375
d) 32.8125

entry in the place of C for the

(
(
(

Q 23.

Q 24.

Q 25.

Q 26.

Q 27.

IRfad ufereu § ? & RIM R BH- d@ g2

8 10 15 13
& 7 5 4
4 & 8 8
[ 1 16 !

frefafaa deEnsil & 3ghd I faR Bifsr-
51473985726315863852243496
Wm%qsazﬁqffﬁHﬁWMﬁaimﬁm
H&T 3Tl 32

(@) 5

(b
(c
(d

PR

6
7
8

el

3IIBH 14, 18, 20, 24, 30, 32, B UAd A& §
31s6¥ 1T febam STt & | F § 9 -t 3rgepe Y
3ATell W& 82

e < it 4 < e agEE RA T E:

Sequence-I |3 4 6 15 525 | 236.25

Sequence-II| 5 A B C D E

ITHH-11 & foRl ¢ & RIM W w1 ufdfie &2

@@ 2.5

(b) 5

(0 9.375
(d) 32.8125
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Q 28.

Q 29.

Q 30.

Q31.

Q 32.

Q33.

What is the value of X in the sequence ?, 12,
36.80,150, X?

24
5
5
262

(o]

3
b
C
d

N
N

N
(00)

(
(
(
(

=

What is the value of X in the sequence 20, 10,
10, 15, 30, 75, X?

[EEN
(%2}

0
2
5
2

3
b
C
d

[ERN
o

[ERN
o

(]

(
(
(
(

N

In the class Mamta’s Rank is 21st from the top
and 15th from the bottom. How many students
are there in the class?

(@) 29

(b) 36
(o 27
(d) 35

If Rahul is 12th from the right and 4th from the
left then how many more people should be
added in a queue so that the total number of
people in the queue becomes 28?

(@) 12

(b) 14
(@
(d)

=N
w O

In a row of 35 peoples Dev is 25th from the right
end. Ten peoples sit between Dev and Ajay. All
of them are facing North. Find the position of
Ajay from the right end?

(@) 15

(b) 14
(¢ 16
(

d) Cannot be determined

= — =

In a queue of students Dilip is 10th from the
left and Jagdish is 20th from the right. They
reciprocally change their place and Jagdish
comes to 23rd place from the right. How many
students were there in the queue?

(a) 33

REASONING TEST

Q 28.

Q 29.

Q 30.

Q 31.

Q 32.

Q 33.

31hH 2 12 36, 80, 150, X § X BT W 4T &2

(a) 248

(b) 252

() 258

(d) 262

31g5BH 20, 10, 10, 15.30, 75, X # X BT A1 TT 872
(a) 105

(b) 120

(9 150

(d) 225

Tt e # W &Y ¥ HU A 241 921 A1 | 1541

& o qaTsd Ban ¥ Pl foba faemelf 22
(@ 29

Ife g TR W 12d WM W 3R I | A R_EA W
9 T BaR ¥ 3R b @i &Y SireT o1 dife darR
H Pl 28 ARTEI 1T 2

(a) 12

35 @I &) U Ufed F eRff BIR W ¢g 25af g 1¢a 3iR
3151 & 9 < A & 1 377 9 9 BT 48 I DI 3R
21 <ri B A 3151 &1 VIF F1d DIR?

faenfefai @ v dar § I A feeliy &1 wIF 104t
3R ST &1 WIF e’ ¥ 204af 21 g <1 3 o
301 R g6 oid & 3R TG e 4 23d WA R
31T 51T € | BaR ¥ feba feremeff 972




Q34. There are seven persons up on a ladder, A, B, C,

Q 35.

Q 36.

(i).

D, E, F and G (not in that order). A, is further up
than E but is lower than C. B is in the middle. G
is between A and B. E is between B and F. If F
is between E and D, the person on the bottom
step of the ladder will be

-

3
b
C
d

2 C

(
(
(
(

m O T o

Four Tests-Physics, Chemistry, Mathematics
and Biology are to be conducted on four
consecutive days, not necessarily in the same
order. The Physics test is held before the test
which is conducted after Biology. Chemistry
is conducted exactly after two tests are held.
Which is the last test held?

Five people A, B, Cand D and E are seated about
a round table. Every chair is spaced equidistant
from adjacent chairs.

1. Cis seated next to A.
2. Ais seated two seats from D.
3. Bis not seated next to A.

Which of the following must be true?
D is seated next to B.

(i). Eisseated Next to A.

Q 37.

Select the correct answer from the codes given
below:

(@) lonly

(b) Honly

() Bothlandll
(d) Neither I norll

Which of the following year is not a leap year?

Q 34.

Q 35.

Q 36.

1.
2.
3.

(D).
)

Q 37.

A RIA AT A, B,C,D,E,F3RG (39
PIATREIAEAIREABIC AT I B I
821G, ANRBIdATRIE, BIRFIdad gl
Ife F E 3R D S fg i, 9 A & 9ad frge AuE
TR B 91 Al a2

a)
b)
o)

HOM™®

(
(
(
(d)

@ IR TN 9 B i W) o §, foeg
MaeAS e fob wemd st o ¥ & | siifaofasm ot
e 39 wWie A ugd @t 18 5 Shiafasi= & 918
fomam T | TGS Bt udien < rdad fbu e &
St a1e ¥ &1 7S | fopaadt udien 3id d &t 187

UlaAfdd A, B, C, D 3R B T M A1 d IRT iR &S
£ 1 1% i afae Rl 4 T g W Re@ &

C, A % qid 9IC 3T B |
A, D T T F o TR
B, A % TXd 915 el 491 2|

frraferiigd ¥ A BH-TIRI 39 A 2122
D, B % XA 91C 931 2|

. E, AF A TE 2

<t g 7Y @e &1 I Y W& IR iU
(a) a1

(b) hael I

(0 I3 IISH
(

d) ARITRI

1 4 Q4 B-1 9 Uep ity af i 872
(a) 2012

(b) 2004

(© 2018

(d) 2032
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Q38.

Q39.

Q 40.

Q41.

Q 42.

Q43.

Q44.

Seven men, A, B, C, D, E, F and G are standing in a
queue in that order. Each one is wearing a cap of
a different colour like violet, indigo, blue, green,
yellow, orange and red. D is able to see in front of
him green and blue, but not violet. E can see violet
and yellow, but not red. G can see caps of all colours
other than orange. If E is wearing an indigo-coloured
cap, then the colour of the cap worn by F is

Rajanis 11th in the list of passed students of a class
and he is 31th from the bottom. Three students did
not appear in the exam and one student failed in
exam. How many students are there in the class?
(a) 32

Between 2 and 3 o’ clock, when will the two
hands be together?

(@) 2:10

(b) 2:10(10/11)

(0 2:11

(d) 2:11(11/11)

Between 7 and 8 o’ clock, when will the two
hands be together?

(a) 7:38
(b) 7:35
() 7:38(2/11)
(d) 7:43 (2/11)

Between 4 and 5 o’ clock, when the two hands
are in opposite directions?

(@) 4:54 (6/11)

(b) 4:55

(c) 4:53(2/11)

(d) None of these

Between 8 and 9 o’ clock, when the two hands
are in opposite directions?

(a) 8:10

(b) 8:56

() 8:11(10/11)

(d) 8:10(10/11)

Between 5 and 6 o’ clock, when the two hands
are in opposite directions?

(@) 5:5(5/11)

(b) 6
() 5:10(10/11)
(d) Never
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Q 38.

Q 39.

Q 40.

Q 41.

Q42.

Q43.

Q 44.

A, B, C, D, E, F 3R G 9 a&ftd & 5t 30 oo &
S, e, &9, @iell, IR 3R @1 D e |
& 3R el A S U W A B =8 | E i 3w
il B W UaT &, W A1 B T8l G IR B Blgp?
[t i @ I 3 Webar 21 A E S 1 DY
SR EA € di F P ST g2

TP BEl &b Ieitof gY farenfft &t Tt § 1o &1 R
1131 8 3R A DI IRV T8 31§ WA W 31 dH
feremmelt wdien § wnfiret 121 gU 3k vop srgriiof &
oT | BeT § Pl febas BT £2

2 9 3 991 & dI9 A1 Y3Ii Tb A1 B &2
(a) 2:10

(b) 2:10 (10/11)

(© 2:11

(d) 2: 11 (11/11)

7 9 8 951 & ¥ < Y331 TP A1 e B2
(@) 7:38

(b) 7:35

(© 7:38 (2/11)

(d) 7:43 (2/11)

4 3R 5 99 & e, Row W O o) <Y g e
feram ¥ Bivfi?

(@) 4:54 (6/11)

(b) 4:55

(© 4:53 (2/11)

(d) =99 Qg T

8 3R 9 7o & dig, foow vy u) &t A1 Jgai faudia
feem 4§ 2

(@) 8:10

(b) 8:56

(0 8:11(10/11)

(d) 8:10 (10/11)

5 3R 6 gol & dia, foow wwy u) @t A1 Jgai faudia

ﬁmﬁ?ﬁﬂ?

(@) 5:5(5/11)

(b)

(© 5:10 (10/11)
) R o e

[e)}




Q 45.

Q 46.

Q47.

Q 48.

At what time between 3 and 4 o’ clock, is the Q 45. 3 3IR 4 g3 & ¥id {69 WY, fiie B GF b D T
minute hand 7 min. ahead of the hour hand? 9 7 fiFe 3ml grfie
(a) 3:07 (8) 3:07
(b) 3:12 (b) 312
© 3:16 (© 3:16
) 3:24 (@) 3:24
At what time between 3 and 4 o’ clock, is the Q 46. 3 31 4 99 & dia by W, fire & F, 68 DI
minute hand 4 min. behind the hour hand? A 4 fie @8 anfie?
(3) 3:04 (@) 3:04
(b) 3:10 (b) 3:10
© 3:12 (9 3:12
@ 3:11 (@) 3:11
Directions (Q.No. 47): The following description frc (M.9. 47): #\ﬁﬁnﬁ@mﬂswmmﬂaﬁq
is for next set of four questions: maﬁrmwﬂﬂsmé’lﬁq
The home towns of Gopal, Harsh, Inder, Jai and Tfftﬂ?f T, 3, WWW$WW ‘JﬂUI?'I,
Krishnan are in Ahmedabad, Bhopal, Cuttack, BCh, maanqw @ﬂaﬂf{?@) g d
Delhi and Ernakulam (not necessarily in the same Solf+afT, iRy, SI?fi’W fafepen 3R dictoll § Ug &
order). They are studying in engineering, History, 2 | (3ifarid: 330 9 | ) Uidi T § < @rs off 31
Economics, Medicines and commerce colleges WAR ¥ 7 0g @, WWWS@H ]
(not necessarily in the same order). None of the WA R
boys are studying in his home tows, but every boy
in studying in one of the above mentioned towns. Tg i fear man 8-
It is also given... o TUIcT B WK TP & |
« The home town of Gopal is Ernakulam o 3RHMIG 31d] WUl § &l Y2 2 |
« Harsh is not studying in Ahmedabad or Bhopal o 3YRA Bleto] YU A 2 |
« The college of economics is in Bhopal o SHBWHARBCDHE |
. The home town of Inder is in Cuttack o PUH feccil HUG R
. Krishnan is studying in Delhi o ST GHige H UG &1 & T SieR Blets I TR
« Jay is studying in Ernakulam and the college of 3EHeEe H R 2 |
history is located in his home town Ahmedabad o Ioll-RIRAT Wlctsl THicperd § R 2 |

. Engineering college is in Ernakulam
Based on the information given above select ST AT b MR W 3Tl JHI & IR G-
correct answer.
If Inder is studying in Ahmedabad, which one Q 47. Ife <X 3EHEIE H U &I &, q9 fr-feRad afdd
of the following person-home town-place of WTR-UGA &1 RH ﬁﬁ?-ﬁ@ﬂﬁwg?
studying is correctly matched? (a) Th'q[ﬁ Eﬂfﬂv_vﬂ:[
(@) Bhopal-Ernakulam-Delhi EE)) :i_l:w'::fj_l\:&%’i‘*
(b) Jay-Ahmedabad-Ernakulam
(c) Krishnan-Delhi Ernakulam © %ﬁ—‘iﬁmﬁ-ﬁﬁ
(d) Harsh-Bhopal-Delhi . e <

Q 48. Uid Teicl ¥, il U gt & HW Rerd &, ufg agaarht
In five flats, one above the other, live five I&d €1 TP MbaR 2, o 31+ 1A S 3ifar i 4
professionals. The professor has to go up to firem & folg W ST U= 81 U Siae} €, foraat
meet his IAS officer friend. The doctor is equally It | TH w0 A i 8, 39 BaH IR SR S
friendly to all and has to go up as frequently as USdl & 3a-1 & aR g 3q%T1 Usdr 8 | U Sofae &
go down. The engineer has to go up to meet oY 31 MLA 7 4 fiieq & fole U ST U &,
his MLA friend above whose flat lives the oI Toie & FHW WHER &1 i Ear g
professor’s friend.
From the ground floor to the top floor in what A Ui IRl e el 9 9 9ad 0 9 90 fod
order do the five professionals live? Wﬁﬁﬂ?”
(@) Engineer, Professor, Doctor, IAS officer, MLA. S?ﬁﬁ'q{ Fﬁﬁo‘ﬂ'{ Sl IAS 3@@@ MLA
(b) Professor, Engineer, Doctor, IAS officer, MLA. ( Fﬁﬁv_{:l'{ ﬁﬁ'ﬂ'{ @'IEE'{ IAS afwri‘r MLA
(c) IAS officer, Engineer, Doctor, Professor, MLA. (c) IAS araawrfr ET“'TTW EIEET ‘Jﬁﬁw_{:l'{ MLA
(d) Professor, Engineer, Doctor, MLA, IAS Officer. (d) Fﬁﬁﬁ'&l’{ QT“'TTF—ITI'{ iy, MLA, IAS SIFW
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Q49. If 18th of March in a year is Monday then which  Q 49. 3fg f6={t fawig af % 18 wref & WA & df fr=ferfad

Q 50.

10

of the following is true?

(@) 18th January is Monday
(b) 18th June is Monday

() 18th October is Monday

(d) 18th November is Monday

In a year April 10 is Tuesday then which day will
be on July 14?

(@) Friday

b) Saturday

) Sunday

(
(c
(d) Thursday

REASONING TEST

Q 50.

Ao &,

(a) 18 STTal ol WIHAR B
b) 18 S I

Q) 18 STRER I AHIR 7 |
d) 18 TaeR <l g

(
(
(

I fepedt af ¥ 10 3t B FreraR & d 14 JS B
@ 1 & g




